Exemplar Problem
Matrix and Determinants

0 xXyz x-—1z
46.ly—x 0  y—2z|=
zZ—X Z-—Y 0
0 xXyz x-—2
Ans: Here,wehave|[y—x 0 y—z
Z—x Z-—Yy 0
Applying C; — C1 — C3, we get
I—X Xy Xx—2
=|z—x 0 y—2z
Z—X Z-Yy 0
Taking common (z — x) from C
I xyz x-—2
=(z—-x) |1 0 y—2

I z—-y 0

Applying [Ry — R> — Ry and Rz — R3 — R{], we get
1 xyz XxX—z

=(z—x) |0 —Xyz y—X

0 z—y—xyz z—x
Expanding along C
== [-wz(z=—x) -0 -0 @E-y—x7)]
= (z = x) [—xy2? + x%yz — (yz = y* — x%z — xz + xy + x%yz)]
=(z—x) [—xyzQ— yz+y2+xy2z+xz—xy]
=(z—x) [yz— yz+xy2z—xyzz+xz—xy]
=@=-0)DhO-+x:0-2)-x(-2)]
== -2@+xryz-X)
0 xXyz XxX—2

Hence, |y — x 0 y=z|=@=-0 (-2 +xyz—x).
Z—X Z—Y 0




